
2
’
-
9
"

1"

1"

2
"

4
 1

/2
 "

2"

3
"

G
1

12

TYP.

 7/16 

 3/
4 

3
1

2

1

1 DETAIL
 B

C

DETAIL
 E

C

 3/4 

 7/8 

 1/2 
TYP.

1

 7/8 

 3/4 
 3/4 

 3/4 
 3/4 

2

1

1

 7/8 

1

1

2

 3/4 

2 1/4 

 3/4 

3 3/4 

TYP.

2 1/4 

1 1/2 

 3/4 
 3/4 

 7/8 

 7/8 

1

1

3 3/4 2 7/16 
1 5/16 

1 
7/

8 
1 

1/
8 

2 
1/

16
 

2

2

PC
DC

PC

PC

DC
 1/2 "

PC
DC

PC

DC 45^
DC

 7/8
 

 1/4 "

1"
4"

1"

4’-0" RAD.

6
’
-
3
"

3
’
-
6
"

8
’-

3
"

8"

1 1/2 " 5" 1 1/2 "1 1/2 "5"

8"

1 1/2 "

8
"

1 
1/

2 
"

4"

8
"

1"
2
"

2
"

4
"

1 
1/

2 
"

6  3/4 

6

 3/16 

 3/16 1 15/16 

1 
11

/1
6 

3 
3/

4 

2 3/8 

3 
3/

4 

ALL DIMENSIONS ARE IN INCHES

ALL DIMENSIONS ARE IN INCHES

ALL DIMENSIONS ARE IN INCHES

 3/16 
1 5/16 

5 1/2 

2 7/8 

3 3/8 

1 5/16 

1 1/2 

2 1/2 1 1/2 

2 1/4 

2 1/4 

5 1/2 

PC
DC

{ 1 1/2 " Sq. Rails (Top & Brace)

{ OF 2" SQ. POSTS
AT { POST

INSERT SHIM MATERIAL BETWEEN

SLEEVE & POST (IF REQUIRED

BY ENGINEER) & SEAL WITH AN

APPROVED CAULKING COMPOUND

 

60^

3
0
^

LEVEL

2" SQ. POST

2 1/2 " SQ. SLEEVE (6" LONG)

TOP OF PARAPET

SEE DETAIL  TC

POST TOP CASTING

 

 1/4 " BY  3/8 "

STRETCHER BAR

 

TOP FABRIC

KNUCKLED FINISH

 

1 1/2 " SQ. TOP RAIL MAY RUN

RANDOM LENGTH, SLEEVES

PLACED WHERE NECESSARY.

 

1 1/2 " SQ. BRACE RAIL

FABRIC TIES SPACED AT

1’-0" O. C. , ALL POSTS

 

SEE DETAIL  BC

BRACE RAIL CASTING

 
6’-0" MAXIMUM

1 1/2 " SQ. BRACE RAIL

1" DIAMOND MESH #9 GAGE

(0.148" DIA.) CLF FABRIC

 

1 1/2 " SQ. BOTTOM RAIL

TOP OF PARAPET

BOTTOM FABRIC

KNUCKLED FINISH

 

END POST BASE PLATE

SEE DETAIL  EC

END POST CASTING

 

2" SQ. END POST

SEE DETAIL  DC

LINE POST CASTING

 

SEE DETAIL  PC

LINE POST CASTING

 

2" SQ.  INTERMEDIATE

POST

 

{
 C

H
A

IN
 L

IN
K

F
E

N
C

E
 P

O
S

T
S

 

{
 C

H
A

IN
 L

IN
K

F
E

N
C

E
 P

O
S

T
S

 

EXPANSION SLEEVE

{ OPEN JOINT AT

ABUTMENT & PIER

 

{  15/16 " DIA. HOLES{  15/16 " DIA.

HOLES

7 1/2 "

MIN.

 

7 1/2 "

MIN.

 

{ RAIL JOINT

SPRING

1 1/2 " SQ. RAIL 3"

OPEN

 

{ OF "V" CRIMP

POSTS

RAILS

 

2" SQ.

1 1/2 " SQ.

 

 3/8 " DAM PLATE AT

TOP OF ALL CLF

POSTS & AT ALL

EXPOSED RAIL ENDS.

 

ID
=

d
a
te

=
p
e
n
 t

a
b
le

=
s
c
a
le

=

file=

A A

2" BY 2" BY  1/8 "

BY 7" SLEEVE 

NEW JERSEY DEPARTMENT OF TRANSPORTATION

BUREAU OF STRUCTURAL ENGINEERING

BCD-509-1

BRIDGE CONSTRUCTION DETAILS

N.T.S.

SECTION: A-A

RAIL SLEEVE

DAM PLATE

DETAIL TCDETAIL EC & DETAIL BC

DETAIL PC & DETAIL DC

END POST
BASE PLATE

INTERMEDIATE POST
BASE PLATE

BCD-509-1.1

139

146

STAKE EACH ANCHOR BOLT

INTERIOR FACE

OF PARAPET

STRETCHER BAR BAND  1/8 "

BY 1" @ 1’-0" O. C. WITH  5/16 "

DIA. CARRIAGE BOLT

FABRIC TIES SPACED

AT 6" O. C. , ALL RAILS

 3/8 "

 1/4 "

 1
/4

 "
 1

/4
 "

2 1/2 " SQ.

SLEEVE

 

2 9/16 " SQ.

HOLE

 7/8 " BASE

PLATE

 

SLEEVE ATTACHMENT

DETAIL OF

 3/8 " THICK

DAM PLATE

SECTION: B-B

B

C

C

 CHAIN LINK FENCE, BRIDGE

6’-3" HIGH, CURVED TOP

SEE ANCHOR 

BOLT DETAIL  

1
’-

1
"

3
"

M
A

X
.

3
"

M
A

X
.

 TOP OF PARAPET

{ 3/8 " DIA. CARRIAGE BOLTS, HEX. NUTS

AND  1/2 " I. D. WASHERS FOR ALL

RAIL AND POST CASTINGS. ENSURE 

THAT ALL NUTS ARE ON EXTERIOR 

FACE OF CASTINGS. AFTER NUTS 

ARE TIGHTENED, DO NOT PROJECT 

BOLTS MORE THAN  1/4 "

THRU THE NUT. (TYP.)

AFTER NUTS ARE TIGHTENED,

DO NOT PROJECT THE BOLTS 

MORE THAN  3/8 " ABOVE 

THE NUT ( 1/4 " MIN.)

PLACE RAIL SLEEVES 

OVER ALL PIER AND 

ABUTMENT  JOINTS.

1 
 1

/2
 "

{  3/4 " DIA. CORROSION

RESISTING STEEL ANCHOR

BOLT,  HEX. NUT & #10 GAGE

STAINLESS STEEL WASHER, 

 15/16 " I.D.  BY 1 3/4 " O.D.

LEVELTOP OF 

SIDEWALK

E
X

T
E

R
IO

R
 F

A
C

E

O
F

 P
A

R
A

P
E

T

EXTERIOR FACE OF PARAPET

INTERIOR FACE OF

 PARAPET

INTERMEDIATE 

POST BASE 

PLATE

1 RAIL STEEL 

RAILING

CHAIN LINK FENCE

ANCHOR BOLT DETAIL

2-3"~ RIGID METALLIC CONDUITS

2
’-

0
"

P
A

R
A

P
E

T

B

PART EXTERIOR ELEVATION

TOP OF 

SIDEWALK

C.L.F. FABRIC

(7’-0" LONG)

9"X2"X1/4" CHAMFER ANCHOR 

PLATE FOR END POST &

7"X2"X1/4" ANCHOR PLATE 

FOR INTERMEDIATE POST

1 RAIL STEEL RAILING,

SEE BCD-509-5

B
D

C
0

7
D

-0
1

-O
R

IG
IN

A
L

 S
H

E
E

T

B
D

C
1
2
D

-0
1
, 
R

E
V

IS
E

D
 B

C
D

-5
0
9
-1

.1

B
D

C
1

4
D

-0
3

, 
1

-R
A

IL
 S

T
E

E
L

 R
A

IL
IN

G
 &

 N
O

T
E

S


